
MOUNTING DESCRIPTION 
Backrest extender kit

Item no : 43799 
Back extension kit

1. Remove the plastic caps on top of 
the back tubes 

2. Using an Allen key loosen the M6 
screws A on each side as shown on 
picture 2. NB: Hold the nut inside 
with a plyer, and remove it when the 
screw is loose.
Remove the screw B which is holding 
the back fabric on each back tube.

 
3. 
The back extender kit contains two 
extender tubes with each one piece 
Velcro. 

4.
Slide the extension pieces into the 
back tubes. The square nut inside the 
extension tube must face outwards.  
   

5. 
Insert the M6 screw A into the push 
bow bracket and into the square nut 
sitting inside the extension bracket 
tube - on each side. Leave loose for 
the extension bracket to move up 
and down.

Insert the new M4 pan head screw B 
into the backwards turning hole from 
screw B in the back tube, and move 
the extension tube up and down till 
you find the desired threaded hole in 
the extension tube.  
There are 4 available height posi-
tions: +100 mm, +172,5 mm, +199 
mm, +225 mm.

Tighten both sides M6  A-screws and 
the M4 B-back-screws.

M4

A

B

M6

MD0143 UK Backrest extender kit 43799
2019-02

Please note that the extended back may contribute to making the 
wheelchair more unstable when the seat unit and or the back are tilted 
backwards. Check the wheelchair stability with the user in the wheel-
chair after having installed back extender. Drive wheel position and 
anti-tippers may have to be moved backwards to keep a good stability.  

My-Netti.com

1 2

3 4

5

A

B


